asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7186 000 resression -4

= I =
2poo0 - M —80t 20000 |- I 25
15000 W - 15000 n
n N —{ 200
10000 o 10000
5000 e 5000 15(
N 400 N
o o
n 300 n 100
5000 | ~5000
- 20 -
10000 10000 | 500
- - 100 -
15000 m 15000 | m
_IllIIII|IIII|IIII|IIII|I D _I|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ
100 _50 0 50 100 30 -20 -10 O 10 20 30
diff_bpmXum diff_bpmdaYium
! . [bf -
= I =
- = — 700 f
15000 15000
- m - u —25(
N —B0( n
10000 | 10000 |
- - n
5000 —1200 5000 200
" " =
o 400 o
n n 15(
_5000 -5000
N a0c N
10000 10000 - 100
n 200 -
15000 u 15000 [ u
n - 50(
- 100 -
20000 - - 20000 |- -
_IllIIII|IIII|IIII|IIII|I D I|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ
100 _50 0 50 100 30 -20 -10 O 10 20 30
difi _bpm1Xum difi_bpmda¥ium
= — — g0l L
8000 - 8000 —25(
BOOO - " G000 i
- i el s 7 -
4000 — - 4000 = —{ 200
2000 ot 2000
o 0 —{ 151
-2000 [ S0 -2000 |
4000 ~4000 [ 10
B 200 B
6000 | -6000
-8000 |- 100 ~8000 |- 50(
10000 10000
- N . N u .
i T I T T N T N O O T N O A A o lvvva b vvvr b bvv v b brvv v baa
12000 =350 _50 0 50 100 o 12000 50~ 20 10 o 10 20 30 o
diff_bpm1Xum diff_bpmdaYium
- I n |
- . —14( - - —25(
3000 apoo
B | B [ |
n —12( -
2000 2000 —|2u
- —10( -
1000 | 1000
- . - —15¢
= of n
B cot B [ |
1000 1000 100
-2000 [ . 40 -2000 [
n m - m 50(
-3000 20 3000
B I |.|

ressiom-asym_ sam24¢

VS

- : —{a5i
20000 [ ® —laor 20000 [ u
15000 — W —70( 15000 N
N - — 200
10000 | —{60C 10000
5000 - {500 5000 - |15t
o 40 o
B B 100
C a0 C
~5000 -5000 u
10000 i 2 10000 : - 500
- o - n f
n 10¢ n
15000 | m 15000 | m
_IllIIII|IIII|IIII|IIII|I ﬂ _IIIIIIIII|IIII|IIII|IIII|IIII|II D
~100 50 o 50 100 30 -20  -10 0 10 20 30
difi_bpmdaX/um difi_bpmdaY/um
! . [hf l
- I -
- m — 700 -
15000 15000
- N y " —|=sr
N —60C N
10000 10000
- - N
5000 - —Pe 5000 - L
of 40( o
n . 15(
~5000 - 30t ~5000 |-
10000 E- 10000 - 100
n 20( -
15000 u 15000 [ u
n - 500
- 10C -
20000 [~ i 20000 - i
_IllIIII|IIII|IIII|IIII|I ﬂ _IIIIIIIII|IIII|IIII|IIII|IIII|II D
~100 50 o 50 100 30 -20  -10 0 10 20 30
difi_bpmdaX/um difi_bpmdaY/um
diff_ diff_bpmdeY
8000 —[eue 8000 —35t
G000 - - G000 -
[ H B [
= I —E.D[ L
- - — 201
4000 : . 4000 : .
2000 - - 2000 -
oF oF- —15(
~2000 | 30¢ 2000 |
~4000 [~ - 4000 [ 10
n 20( -
~6000 ~6000 [
~B000 ~BODO 500
B 100 B
10000 10000
- N . C u .
I N T N N T O I O A A Crvvr b b rrr b rrr b brr e b
12000 —3n0 50 o 50 100 o 120000 "3 10 0 10 20 30 o
difi_bpmdaX/um difi_bpmdaY/um
. . Y
- - —25(
- " —14( C
3000 3000 |
B | i [ |
N —{12t C (20
2000 2000 |
1000 2 ke 1000 2
B C —15&[
oF B0 oF :
1000 B0 ~1000 |- 100
2000 - 400 - 2000
u [ N [ 00
-3000 | 20( ~3000 -
B B |
B '||||||||||||||||||||||||||||||||

diff bom

OL

-20

 POS

10

tpan.png

diff_bpml2X

20000 n

- —{14¢
15000 n

- —{12¢
10000 |

n —{10c

5000
n:—l

5000

10000 |

B " un
15000 | m

_III|IIII|IIII|IIII|IIII|III ﬂ

~100 =50 0 50 100
diff_bpm12X/um
l-

- _ —{18¢
15000 :— - —16(
10000 | —{4ar

5000 —12(
oF

~5000 —

10000

15000 o

- 20(
20000 | -

_III|IIII|IIII|IIII|IIII|III ﬂ

100 50 0 50 100
diff_bpm12X/um
d'
8000
6000 —{12¢
4000
- —{10c
2000
D:—I

2000
~4000 [
-6000
~8000

- 20
10000 |

n . u

AN TN T T T T T N T T A Y A O B
12000 100 50 0 50 100 0

diff_bpm12Xium
-
| —
n —{20t
3000
- | —{18¢
2000 —{ 161
- —{14¢
1000 |
of
1000
2000

- =
3000

- 20

:III|IIII|IIIIFlllllllllllll
~4000 100 -50 0 50 100 0

diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7186 000 regres

1000 — —anc
500 —a5¢
[ =
ol —20(
-500 [ 150
-1000 [ 10
1500 |- sor
S
_E.DDD _I | | L1 1 1 | | I I | | L1 1 1 | L1 1 1 | | D
100 _50 0 50 100
diff_bpmXum
d .
- —ag(
1000 ™ .
N u —a0c
500 — - ..
- —se(
o m
- 201
-500
- 150
1000 |-
- 100
1500
[ 50(
-2000
| |
B L1 H L1 1 | | L1 L1 | | L1 1 | L1 1 | | | D
100 50 0 50 100

difi _bpm1Xum

B — 300
B00 —
. W
B —{25(
ﬂ -
i — 20
=500 — 18(
| 100
1000
: u 500
~1500 - L1 ﬂ L 11 | I N N N O O A B o
=100 (1] B0 100
diff_bpm1Xum
difL
: I
300 —{3&(
E [ ]
200 —
C L —30(
I - | W |
. 100
1' - o5
(U
- [ |
100 |- 20
~200 15(
-300
B 100
B |
400 —
N 500
=500 —
F H I B ‘ L1 | A B
1] 100

B - - ]
1000 [~ u 120
coo - m | 100
o n —a00
B [ |
~500
. BOC
~1000 [~ m E 400
1500 | 200
! m
_E.DDD _I | L1 11 | L1 11 | L1 11 | L1 11 | 1111 | L 111 | 1 11 ﬂ

30 -20 10 O 10 20 30
diff_bpmda¥ium

°1

1000 |- Il
son [ —{a5¢
[ m
of —|ape
-500 [ 15¢
-1000 [~ 10€
~1500 [ 50
[ =
_EDDD _| | | L1 1 1 | | I | | | I | I | I | | | ﬂ
100 50 0 50 100

diff _bpmdeX/um

91

: : —{a&(
1000 1000 - @
B —121 B
500 — B00 —
i e REH i
C C —25(
iy m iy
- _B_DE -
i i 200
~500 -500 -
B u B
" 60( " 15(
1000 |- 1000 |
N 400 N 10
~1500 =1500 —
N 201 N 500
~2000 | ~2000 b
R | R |
| | L1 11 | L1 11 | L1111 | L1 11 | L1l 11 | L1111 | L 11 ﬂ B L1 q L1 1 | | L1 1 1 | | L1 1 I L1 1 | | | ﬂ
=30 20 =10 1] 10 20 b =100 ~50 i L) 100
difi_bpmda¥ium difi _bpmdeXsum
diff diff_bpmdeX
i — i — — a5
[ —12( [ aoc
R00 — B00 —
R . W |
. —1ec | —25(
1] | o
- o - N —20(
. - .
~500 BOC ~500 15(
i i |
| 400 | 100
1000 1000
I 0 20 i m (o0
- - m -
1EDD||||||||||||||||||||||||||||||||||| 0 1500 ||q||||||||||||||||||||| 0
~30 20 =10 1] 10 20 b =100 (1] B0 100
diff_bopmda¥ium diff_bpmdaX/um
d. d .
2 L
300 4 300 a5
- - N
200 |- —12 200 £ ma —30(
I n I n [ W |
R L. W
. 100 . 100
- ke - 25
-l o
- - m
u L BOC u
=100 -100 200
_2p0 - B0 -200 15(
~aon | -300
L 4.D|: L
B [ ] B
~400 400 =
B 200 B
~500 =500 =

ression 'mreg_sam

2468 Vs diff hpm-t

1000 — 112t
of ™ B | s
- m
~500
C BOL
= 1000 — u E B 400
1500 [~ 201
- ]
_E.DDU _I L 11 I | I | | L1 11 | L 111 | | I | | L1 11 | [ D
-0 =20 -10 0 10 20 30
diff bpmdeYium
d.
1000 = —12¢
500
C —{10¢
o m
C —{g00
-s00 |
C BOC
~1000 |-
400
-1500
: 00
2000 |-
_ m
_I L1 1 I | I | | L1 11 | L1111 | | I | | L1 11 | [ | D
-a0 =20 T 0 10 20 30
diff bpmdaY/um
diff_bpmdeY
- ] —{12¢
500
i —{10r
o m
_ —{a0r
50 - B0
i 400
-1000
- - 200
-1500
AN EEEEEEEEEEEE NN NN NN N o
-0 =20 -10 0 10 20 30
diff bpmdaYium
diff_bpmd4eY
aon |
| -
« 100 |
| . 100
1 -
0
- m wm | —soc
~100
~200 B0
~300
- 400
N m
400
~500 |
El'[:'l:l : L 11 I | I | | L1 11 | L 111 | | I | | L1 11 | [

3{} -20) =10

“postpam:png

N 100
1000 -
s00 [ BOL
ol
N BOLC
-500
N 400
-1000 |-
~1500 | 201
: n
_Eﬂnn_lllllllllllll|||||||||||||| ﬂ
100 -50 0 50 100
diff_bpm12X/um
diff
1000 | —|10
500
- —80(
oF
N
500
1000 |-
1500
- 200
~2000 b
n [ |
_||||||||||||||||||||||||||| ﬂ
100 50 0 50 100
diff_bpm12X/um
diff_bpm12X
| L]
—10(
500
—80(
0

-500

1000 —
| 200
i |
=1800 — [ ]
I T I T T N T A A O OO O B A 0
=100 ~50 1] 50 100
difi_bpm12Xium
d.
: L
300 -
s00F —100
| =
« 100
| [~ _B'Dt
1 -
o
~100
:.
~200 |
~aon |
B [ |
=400 —
- 200
~500 |
- m
I:|‘||||||||||||||||||||||||||| 0
=100 =50 ] 50 100

diff_bpm12X/um



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7186 000 regression asym sam

E{:IDDEIf— i 2 | ndf 4.17 /10
15000 & - p0 3.435 + 3.889
10000 - p1 ~176.6 0.6
5000 Ry
5000 _‘wr

- -
10000
15000 | _

1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1

100 50 0 50 100

diff_bpmi1X

F - v /ndf  6.125/10
15000 F
10000 _ p0 ~3.46 + 4.65
000 - I, p1 -139.8 + 0.7

" e

of AN

5000 [ y

B 1
10000 e
15000 — -
20000 — )

:l ] 1 | L1 1 1 | L1 1 1 | 11 1 1 | 11 1 1 | ] 1

100 50 D 50 100

diff_bpm1X

%2 / ndf

4.344 /10
p0 -2.417 + 2898

p1 94.07 + 0.42 M

=2000

=4000

-6000

-8000

10000

LIIIIIIIIIIIIIIIIIIIIIIII

=100

diff_bpm1X

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-850

0 50

¥ / ndf

p0
p1

100

10.53 /10

0.255 £ 0.336

-29.89 £ 0.05

-50

100

%

bpm4aY

d

.

bpmdeY

6000 |- | ¥2/ndf  28.18/34 20000 | w2/ndf  14.29/12 - X2 /ndf 41.47 /34
woo b - ﬂ p0  -2.906 + 4.997 18000 - - p0 3.369 + 3.782 4000 #} p0  -2.692 + 4.939
i H ILH% . [ { s
- 1 -180.6 + 0. = 1 -178.11 0. i * 1 -193.2 + 0.
2000 [ } p 180.6 £ 0.9 mnnn: p 178105 2000 [ p 193.2 £ 0.9
- 5000 ", I
o C ) o
i of \ I
2000 - . i
[ RS 5000 ‘*a} ~2000 ™ n +
- N =T . m
~4000 :— Hrw_ + 10000 ) 4000 - tH+H H
-6000 i} 15000 |- _ I ﬁ _
_Illl||||||||||||||||||||||||||||||| _Ill||||||||||||||||||||| _E.DDD-LIIII'III|||||||||||||||||||II|II
a0 -0 -10 0 10 20 30 100 50 0 50 100 30 -20 -10 0 10 20 30
diff bpm4aY diff _bpmdeX diff_bpm4eY
¥ /ndf  25.05/34 o E %2 /ndf 12.82/12 ¥2/ndf  38.26/34
p0  —2.545 + 4.701 $ o000 3 p0 ~3.05 + 4.61 p0  -1.536 + 4615 P
- iy
p1 174.5+0.8 ﬁjﬂ* i 5000 |- Y|P ~139 £ 0.6 p1 190.2 + 0.9 N}W -
2000 [ 3 n o 2000
i of \ i
or 5000 f— il ”:—
[ : , i
2000 10000 F - ~2000 |-
i # - ST [ +
[ L s ] F
~4000 [ - W[H 15000 F ~4000 = - Hl““r
- 20000 _ - +
_E"DDD_llll||||||||||||||||||||||||||||||| :||||||||IIII|IIIII|||||| _E"DDD-I_III|||||||||||||||||||||||||||||
a0 20 10 0 10 20 30 100 50 0 50 100 30 -20  -10 0 10 20 a0
¥2 / ndf T 2726134 %2 / ndf T 1245712 12 / ndf T 41.03/34
p0 1.625 + 2.624 #*P’r* p0  -2.354 + 2837 ) p0 1.63 £ 2.59 ++++H ++
il 'J' - a T
pi 132+ 0.5 o pi 94.93 + 039 | p1 1405+ 0.5 4
000 E / 000 |
of . ; of
: 2000 | & :
~1000 |- ~a000 |- -1000 [~
- 2000 ;— | }Hﬁ g ~6000 ;— 000 f— + #Jr
- - n Hr
o0 ) ~Boo ao00f LK
_a000 & - | 10000 - F
SENEENINEEEEEE NN NS N NN NN NN I T U T T T T T O N O A W Y 4000 v v v b b b b b
a0 20 10 0 10 20 30 100 50 0 50 100 30 20 10 0 10 20 a0
diff _"bpmdaY diff_bpmd4eX diff _bpmdeY
400 |- . - 2 400 |- 2
[ [ ndf 24.54 [ 34 - / ndf 19.14 /12 - ! ndf 36.57 /34
200 - 3000 — aon |
F p0  -0.2913 +0.9358 [ p0  0.2741+ 0.3079 C - p0  —0.1073 £ 0.9367
200 2000 - 200 }
St pi ~3.128 £ 0.166 5 _ | pt -30.17 £ 0.04 oo E- } p -1.257 £0.177
100 1000 | . - rH
- - - E |
JE M N K oF H]l Mﬁm
§ | thJ“rw i °F \ o0f - { w
~100 - - = -
- - ~1000 |~ T -200
~2o0 | 5 t n
- _2000 R ~300
300 N B -
u B - -400 |
_4po - ~3000 |- _
_|||||||||||||||| : jlll||||||||||||||||||||||||-|||||
a0 -20 10 -10

2468

vs diff ‘bpm-fit

_post

pan.png

diff_bpm12X

¥2 [ ndf 42.5 /40
p0 -2./17 £ 6.411
p1 6.574 £ 0.238
000 |
1000 |
; *}Hﬂ
o
' ++&F¥ﬂﬁﬁﬂdﬁﬂ#ﬁE*#¢#ﬁﬁ
- h#
1000 - |
_E.DUU-_III_Il||||||||||||||||||||||||

=100 -50

1] 50 100

diff_bpm12X__

1 fndt 47 .26 1 40
pO —6.202 + 6.169
p1 0.01314 + 0.22842
=1000 _
2000 —
Lo :| AN A B AR

diff_bpm12X

1000

200

-500

=1000

=1500

= 2000

-2500

¥ ﬂ%'-

=100 -50

1] 50 100

%2 / ndf 40.88/ 40
p0 1.009 + 3.965

pi -3.335 £ 0.147

-
H

M,

=100 -50

1] 50 100

diff_bpm12X

zl,r ndf 2.4 /40
p0 -0.6357 £ 0.9326
p1 07787 £ 0.0346

100 ;‘ *

e ) +
b (T
a00f - }
—ﬂﬂﬂg'
~ 400 %‘ -

o

=100 -o0

1] 50 100



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

diff_bpm1X

¥/ nf 12711

pO —0.02975 + 0.86883 -

diff_bpm4aY

400 i x2 [ ndf 28.49 /7 34
I p0 0.2481+ 0.8636
200 —
I p1 —0.1321+ 0.1542

(St

=
T T T | T
pr—
—_—

_

=200

=400

600 — -

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

w2/ ndf 38.01 /34

po 115 £+ 0.92

p1 0.2605 + 0.1635 |, H
- Ty
i

=100

=200

=300

=400

- 500

_E"DD_IllllllIIII|IIII|IIII|IIII|IIII|III

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

p1 0.01575 £ 012424 {
U_— |1'"' "'}”‘
500 |
1000 _
~1500 —
:III_|IIII|IIII|IIII|IIII|II
100 50 0 50 100
%2/ ndf 12.49/ 10
D0 0.9119 = 0.9275
o1 0.0005288 = 0.1333100 i
it}
i b
-500
1000 |
1500 |
~2000 |
:Ill_llllI|IIII|IIII|IIII|II
100 50 0 50 100
diff_bpm1X
: 1 { naf 9333710
300 = p0 0.1384 + 0.6126
I |J pl  —0.04021+ 0.08782
ID_— Hh— J[]J
~500
~1000
_1EDD_|||_|||||||||||||||||||||||
100 5D 0 50 100
¥ ndf 19.53 /10
p0 0377+ 0.221 |
b1 0.007973 + 0.031744 ++|]r
~100 |
200 |
300
400 | )
-500
:II-|IIII|III|IIII|IIII|II

}:2 { naf ag.22 ! 34
pO 0.06079+ 0.61010
p1 0.1297 £ 0.1086 |_

- ‘ 1 f } ’ -

ol ‘ wi_fwﬁ.pl ]

100
200
~apob v v v bvr e v bvaaa baa

=30 =20 =10 1] 10 20 a0

dlthpmélaL

run7186 000 regression reg sam

‘j: { naf 36.66 / 34
pO 0.3966 + 0.2196
p1 0.06283 + 0.03897
+
B o- || II]L'W'"*"'W*W"“"""WI’J* { -
2o -
_4{;:—
_EII}:_ 1-
_3{;:—
100
-120 :—

m2468 vs di

diff_bpmdeX

32/ ndi 7727112

po 0009407 + 0.858513

p1 0.02085 + 011653
v
500 |
1000 |-
1500 :—

i

91

1000

500

=500

=1000

=1500

= 2000

=100 -50 0

iff_bpmdeX

¥ ndi

p0

o ™

50 100

diff_bpmdeY

32 f ndi 40.49 / 34
po 0.2071 + 0.8637

=) 0.007566 + 0.164064

8.865 /12

1.076 £ 0.917

—~0.002686 £ 0.12514%9

1
——H

- 200

~400

- 600

=30 -20 =10 0

10 20

30

diff_bpmdeY

91

500

-500

=1000

=1500

=100 -50 0

iff bpmdeX

¥/ ndf

pO

ol ”

50 100

6.146/12

01246 = 0.6057

—0.04397 = 0.08263

°-.

200

100

=100

=200

-300

=400

- 500

fr

:{anm‘ 2656/ 34

pO 1.096 £ 0.924

p1 003623+ 017418 . }
| NH" Y

=-200

400

800 —
-|IIII|IIII|IIII|IIII|IIII|II_II|II
-30 -20 =10 0 10 20 a0

91

300

200

100

-100

=200

=300

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

iff_bpmdeY

%

bpm12X

32/ ndi

p0

42 .37 / 34

0.1243 + 0.6102

p1 -0.009447 £ 0115379

a0 2/ ndf 45.8 / 40
300 - p0 0.02945 + 0.86391
200 - p1 —0.02902 + 0.03192
wol ]
-4 4 }
°F HW“ ik DR #I}th
100 - }
~200
=300 ;‘II I AN S AN A B AN A A AN AN A AN A
~100 -50 0 50 100
¥ | ndf E? 68/ 40
po 1.086 = 0.922
p1 0.0132 + 0.0340 }
of | I el |
E | i}
100 :
-200
~300 {
400
El 11 -I | | I I | I | I | | L1 11 | L1 1 1 | L1 11
~100 50 0 50 100
diff bpml2X
¥2 / ndf 36.15/ 40

pO 0.06201 + 0.60992

| \}i:hﬁrh%ww H |

-30 =20 =10 0

10 20

30

p1 0.02266 + 0.022M H -

”{

1 A"

=100

- 200

-300

I |] N T T T T I OO O B N B A A
=100 -850 1] 50 100

B } _
[ [ I N T N N T N T N O O A
=100 =50 (1] 50 100
¥/ ndf 24.68/12
po 04071+ 02184

{.]l_}#m— P —~0.004937 £ 0.0296592

diff_bpmdeY

¥ ndi 37.72/34

po 0.4318 + 0.2198

b1 0.007008 + 0.041355 }

EEIE— { li
. |

-zuf— H -

}

b _

4....|....|....|....|....|....|'..

=20 =10

“bpm-fit’ postpan.png

91

20

=20

_IIIIIIIIIIIIII|III|III|III|III|III|II

iff_bpm12X

{H | m”iq}ly

¥/ ndf 27.83 /40
p0 0.3807 £ 0.2197

p1 ~0.006325 + 0.008100

=100 -o0

1] 50 100



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

20000

15000

10000

5000

~5000

10000

15000

=100 =50 0 50 100
diff_bpmXum

15000

10000

5000

=5000

10000

15000

20000

=100 -50 0 50 100
difi _bpm1Xum

8000
6000
4000

2000

=2000

-4000

~6000

~8000

10000

12000 =100 -50 0 50 100

diff_bpm1Xum

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

run7186 000 reeressionr-asym sam

20000

15000

10000

5000

=5000

10000

15000

=30 =20 =10 1] 10 20 a0

diff_bpmda¥ium
diff

15000
10000

5000

5000

10000

15000

20000

=30 =20 =10 1] 10 20 a0

diff_bpmda/um
diff _

8000
6000
4000

2000

=2000

~4000

~6000

~8000

10000

12000 o lvvva b vvvr b bvv v b brvv v baa

=30 =20 =10 1] 10 20 a0

diff_bpmdaYium
djfL

3000

2000

1000

=1000

=2000

=3000

=
III|IIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIII

o 4 Wi Vs

20000

15000

10000

5000

=5000

10000

15000

=100 -50 0 50 100

diff _bpmdeX/um
diff

15000
10000

2000

=5000

10000

15000

20000

=100 -50 0 50 100

diff_bpmdaX/um
diff _

8000 - .
6000
4000
2000

0

=2000

~4000

~6000

~8000

10000

AN N T [ T T T N N Y I O A A
12000 =100 -850 (1] B0 100

diff_bpmdeX/um

diff_bpm4eX

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff ‘bpm=Sca

t

20000

15000

10000

5000

=5000

10000

15000

2

20 -10 0 10 20 a0
diff_bom4eY/um

iff_bpmdeY

15000
10000

5000

= 5000

10000

15000

20000

2

=20 =10 1] 10 20 a0
diff_bpmday/um

diff_bpmdeY

8000
G000
4000
2000

1]

= 2000

=4000

= 6000

= 8000

10000

Crvvr b b rrr b rrr b brr e b
1EDDgﬂﬂ 20 =10 1] 10 20 an

diff_bpmdaY/um

diff_bpmdeY

3000
2000

1000

=1000

= 2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

IIIIIII.II|IIII|IIII|IIII|IIII|II
R T T ——

ostpan.png

20000

15000

10000

5000

=5000

10000

15000

tv v v v by v v by
=100 -50 0 30 100

diff_bpm12X/um
diff

15000

10000

5000

=5000

10000

15000

20000

=100 -50 1] 50 100

diff_bpm1 2X/um
diff _

8000

6000

4000

2000

o

=2000

-4000

~6000

- 8000

10000

I T I T T N T N I O OO O B A
12000 =100 ~50 1] 50 100

diff_bpm12X/um
d.ifL

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII

RN S A A BB fl R B A A
=4000 =100 -50 1] 50 100

diff_bpm12X/um



reg_asym_sam2

reg_asym_sam4

reg_asym_samb6

reg_asym_sams

run7186 000 resression-reg sam2468-vs diff bpm-sca

1000

500

~500

=1000

=1500

=2000 IIII|IIII|I

=100 =50 0 50 100
diff_bpmXum

1000

500

=500

=1000

=1500

=2000

=100 -50 0 50 100
difi _bpm1Xum

diff_bpmlX

500

500 —

=1000

=1500 I e N

=100 -50 0 50 100
diff_bpm1Xum

500

=500

=1000

=1500

_E'DDD_IllllllIIII|IIII|IIII|IIII|IIII|III

30 20 -10 0 10 20 30
diff_bpmda¥ium

- 500

=1000

=1500

=2000

tlv sl |||| v v lraa g Ly
—Eﬂ =20 =10 0 10 20 30
diff_bpmda¥ium

00—

=500 —

=1000 =

=1500 i lvvs b b b b b b

30 20 -10 0 10 20 30
diff_bpmdaYium

°~.

1000

500

-500

=1000

=1500

=2000 i N B

~100 -50 0 50 100
diff_bpmdeXium

1000

500

=500

=1000

=1500

=2000

=100 -50 0 50 100
diff_bpmdaX/um

diff_bpmdeX

500

500 —

=1000

=100 I NN NN

~100 _50 0 50 100
diff_bpmdeX/um

i — : :
300 F- 300 £ 0oE
200 - 200 - 200
- E SO
. 100 - 100 : 100
| - ' - I :
1 - 1 - 1 -
0 e °F
100 ~100 -100
~200 ~2o0 | 200 |
~a300 ~300 3
-400 -400 o
500 -500 s
- L1 | | 11 | [ 1 : =

100

500

~500

= 1000

=1500

-2000 IIIIIIII|IIII|IIII|IIII|IIII|II

20 -10 0 10 20 30
difi_bpmdaYium

diff_bpmdeY

1000

2

500

-500

=1000

=1500

= 2000

20 -10 0 10 20 30
diff_bpmdaY/um

2

diff_bpm4eY

500

500

=1000 [~

-1500 b s b b ber o b

30 -20  -10 0 10 20 30
diff_bpmdaY/um

200

100

-100

- 200

=300

~400

=500

=10

_postpan pnge

500

- 500

=1000

=1500

_Eﬂnnlllllllllllll

=100 -50

-500

=1000

=1500

=2000

0 50 100
diff_bpm12X/um

=100 -50

500 —

=500 —

=1000 =

=1800 —
I A I O B B A O B A

o 50 100
diff_bpm1 2X/um

=100 -50

;

300

200

100

e

=100

- 200

=300

-400

~500

0 50 100
diff_bpm12X/um

|||||||||||||
B T v S—

1] 50 100
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run7186 000 resression -4

diff_ bpm1X

C m
1500 ™
n —25(
1000
500 - — 200
of 15
E [
-500
- 10(
~1000 | - .
N [
n 500
1500 | L "
—E‘DDD :I | | L 1 1 1 | L1 1 1 | I 1 1 1 | L 1 1 1 | | D
~100 50 0 50 100
diff_bpmXum
I
10000 — g 18(
- —14c
. =
000 = —12¢
- —10(
ﬂ -
. 80(
i BO(
| |
5000 -
i 400
- ]
- 200
10000 .
11 | | I | | | I I | | 1 1 1 1 | | I | | | D
~100 50 0 50 100
difi _bpm1Xum
diff
R000 :— u _ogs
4000
3000 —|20c
2000
1000 & 15
0F
- m
1000 F m 1ot
-2000 |
- ] 500
3000
—4000
' T N T T T O O T N O I A o
~100 50 0 50 100
diff_bpm1Xum
: I
4000 F m —12(
3000
- = —10(
2000
n — B0(
1000
of B0
~1000
B 400
-2000 -
n 200
3000
B | FI

= [ | |
2000 F 25
1500
- —{z0c
1000 |
500 15[
o
C 10
500 —
~1000
: 50
~1500 | -
—E‘DDD :I | L1 11 | L1 11 | L1 11 | L1 11 | 1111 | L 111 | 1 11 ﬂ
~30 =20 =10 ) 10 20 an
diff_bpmdaYium
difL
I
10000 - -
I —{z5¢
s |
5000
i =0
- |
or L] 15¢
i 106
| |
~5000 - -
- |
- 50(
10000 - .
1 | L1 11 | L1 11 | L1111 | L1 11 | L1l 11 | L1111 | L 11 {'
30 -20 10 ) 10 20 a0
diff bpmda¥ium
difL
n — —4{;[
5000 m
4000 —35(
= [ |
3000 |- —lanr
2000
- —{25¢
1000 |
- 200
o
~1000 15
~2000 100
-a000
- 50(
~4000
oy Loy b b bar o v b 0
30 =20 10 ) 10 20 an
diff_bpmda¥ium
difL
: I
4000 m —25¢
3000
C | —{z0c
2000
1000 —15(
oF m
- m
~1000 1o
-2000 F
N [ | ol 500
3000

e 1 57 VS

ression "“”‘a”SVl‘l'l SAlll

diff_bpmdeY

C m N [ ] —22(
2000 - 2000
n - —200
150 ™ 1500 |- " e
- —25( -
1000 1000 |~ |16
- _ N —14c
500 20 500
n N 12(
ok o
B 15( - 100
- = -
500 -500 B0C
- m 100 -
n C BOC
~1000 [~ - . ~1000 |
- - n 500 - 4
-1500 m -1500 m
n N L 200
_E_DDD_IlllllllllllllIIIIIIIIlI ﬂ _E_DDDIIIIIIIIIlIIIIlIIIIlIIII|IIII|II D
- 100 50 o 50 100 a0 =20 =10 ) 10 20 30
diff_bpmdeX/um diff_ bpmdeYium
10000 - I —|16t 10000 - I
: —14( : —lagr
L m i |
5000 — —12 5000
i i — 200
. —{100 .
- - |
= o
u B0 | 15(
- m BOC i
- . - . 100
~5000 == ~5000 | -
I s i
- | - |
- - 500
- 200 -
10000 - . 10000 - .
II|IIII|IIII|IIII|IIII|I ﬂ IIIIIIIII|IIII|IIII|IIII|IIII|II D
100 50 o 50 100 3 =20 -10 ) 10 20 30
diff bpmdeX/um ditf_bpmdeYium
diff_ diff_bpmdeY
E000 ;‘ —25r 5000 ;‘ —4ani
4000 4000 =
- - —a5¢
3000 —{z0c an0no
- - —30(
2000 2000
- - —a5(
1000 =15t 1000
of [ - ob 200
" m n
1000 F m 10 -1000 15(
: s T :
-2000 |- ~2000 |- 100
- | 500 -
-3000 ~3000
= - 500
4000 & -4000 |
NN NN 0 b br o b b by oo b o
- 100 50 o 50 100 A =20 -10 ) 10 20 a0
diff_bpmdeX/um diff_ bpmdaYium
diff diff _ hpméleY
- 5 —|=25¢
4000 F m 4000
- —{12¢ -
3000 3000
n n —200
B | B
- —{100 " -
2000 2000
1000 —la00 1000 | —15(
= o
- 60C - "
- - 100
-1000 |- =1000
_ l [ | 40( N
-2000 -2000
. . - - - 50(
n 20 N
~3000 ~3000

2000

1500

1000

200

-500

=1000

=1500

= 2000

10000

S000

~5000

10000

"-"1

3000

2000

1000

=1000

=2000

=3000

-4000

91

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

diff bpm=COLZ postpan.png

— 700

10¢

IIII|IIII|III 0

100

diff_bpm12X/um

—24(

—200
—18(

—16L

—14(

400

200

III|IIII|IIII|IIII|IIII|III 0

.y

100

diff_bpm1 2X/um

—700

100

diff_bpm12X/um

—200

—18(

—16(

—14L

200

III|IIII|IIIIFlllllllllllll 0

100

diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7186 000

| — — 3
B [ |
| : —1a¢
. 200 m
- —16¢
| - ]
100 m —{14(
[ n
- g T 12(
(1] — -
[ m n 100
100 g R0C
- BOC
200 |
a 400
300 m 200
B L1 | L1 1 1 | | I I | | L1 1 1 | L1 1 1 | | D
- 100 50 0 50 100
diff_bpmXum
d '
| —
1000
: i "u —1ot
N [ |
500 —
n —lanc
o m
_so0 [ BOC
~1000 — sot
1500 |
- 200
2000 g =
B L1 | L1 1 | | L1 L1 | | L1 1 | L1 1 | | | D
100 50 ) 50 100
difi _bpm1Xum
difL
B‘I}D | I
- —z2¢
600 [ 20
| -
[ —18c
© 400
) s {161
200 —14(
: |
of 12(
- 100
~200 |- a0t
400 m BO(
§ - 400
~B00 -
- 200
_BOD NN N N o
100 _50 0 50 100
diff_bpm1Xum
diff_ bpmlX
I
- —{50c
400 =
| - N
200 - an
| [
1
D L
i —30(
~200 |-
[ 200
~B00 - 100
[ =
~B00 -
L1 | L1 1 1 | 11 ‘ L1 1 | L1 1 1 | |
~100 _50 0 100

| — | — 3o
- r i -
300 300 |20t
B —{ 0L B
| - | - —{18c
. 200 . 200
- —eoc - —{18(
] - ] -
100 = —snr 100 — —114(
N u N 1210
o 400 o
n [ m 100
100 ® N 30( 100 g 8o(
- N B0C
- 200 20C - 200
a a 400
- 10 -
-300 - | . -300 - N N 200
_I | L1 11 | L1 11 | L1 11 | L1 11 | 1111 | L 111 | 1 11 ﬂ B 11 | L1 1 1 | | I | | | I | I | I | | | ﬂ
~30 =20 =10 ) 10 20 an - 100 50 o 50 100
diff_bpmdaYium diff_bpmdeX/um
d ' d '
- I n |
N ot N
1000 1000 -
- - 0 " —10
n —{a5¢ - o
500 — 500 —
N —{anC _ —{B0(
o - o m
C —125( C
500 - _500 60t
. 200 .
1000 n 150 -1000 - 40(
1500 100 1500 |
- - 200
2000 E 0B S0 -2000 - g -
I | L1 11 | L1 11 | L1111 | L1 11 | L1l 11 | L1111 | L 11 {' B L1 | L1 1 | | L1 L1 | | L1 1 I L1 1 | | | ﬂ
30 -20 10 ) 10 20 a0 100 50 o 50 100
diff bpmda¥ium diff bpmdeX/um
d ' d '
BOO — 200 BOO
B B —{22(
i [ [ | i
G600 — B0 &0 N —{ 200
| - | -
i —{700 - —|1ec
© 400 © 400
I B | B u —
! R —G00 3 B 160
200 m 200 —14
B [ ] 500 - =
oF oF - . 12(
B 40( B [ 100
-~ 300 ~300 -
- 300 - - 80
_400 00 - BOC
400 m oot 400~ m _
. Z 40(
-eeo 100 ~600 [~
. a s ¥ - 20(
—-E-EID'l”"l""lll"l""l”"l""l"' 0 -EDD_"l""|""|""I""|' 0
30 =20 10 ) 10 20 an - 100 50 o 50 100
diff_bpmda¥ium diff_bpmdeX/um
I I
. . —{500
B m B m
400 g 400 -
- —{16¢ - |
| 200 - I 200 - —{400
: | — 141 : |
| N | N
1 1
or —12¢ o
- - —lanr
200 100 200
: BOC i 300
_400 ~400 -
. u GO . u
600 - 400 600
i 201 [ =
~B00 -

resressionr-reg sami357vs diff “hpm-

8o
300
C —{7ot
I N
. 200 F
N —lBoi
P
100 - . i
B |
0 400
~100 [ m u and
"~ =
- 300 :— 207
a0 . - 100
B L 111 I | I | | L1 11 | L 111 | | I | | L1 11 | [ D
30 -20  -10 0 10 20 30
diff_ bpmdaY/um
d .
N —{a0t
1000 [~
- —{asi
500 |
0 [
- ) ase
- 200
1000 15(
~1500 | 100
-2000 |- = = B
B L1111 I | I | | L1 11 | L1111 | | I | | L1 11 | [ | D
a0 -20  -10 0 10 20 30

diff_bpmday/um

diff_bpmdeY

R o
G600 —
' - — 700
t 400
] - —(60(
200 |-
5 m SC
ﬂ_
. 400
_ap0
C 30C
400 - 200
=600 100
[ E N
oo b v br e by r e by oo b
'3”5'34} -20 -10 0 10 an a0 o
diff_ bpmdaYium
diff _bpmdeY
B I
400 u —{18(
[ —16¢
I 200
» - —14c
] - ]
o —12¢
- 100
- 200 |-
[ R0C
-400 = m BOL
~BO0D B 400
i - 200
_B.DD _I L 11 I | I | | L1 11 | L 111 | | I | | L1 11 | [

-30 -20) =10

“postpam:png

N — —|700
B |
aoo
B —{B0L
I -
. 200
- —|s0r
oL
100
of
100 |
~200 [
B |
-300 - | EE
_III|IIII|IIII|IIII|IIII|III
T 50 0 50 100
diff_bpm12X/um
d.
| —
1000 m
- Cp —30c
N [ |
500 —
- —o5g
o
- —200
500
1000 |-
- 100
~1500 [~
- 500
_III|IIII|IIII|IIII|IIII|III ﬂ
100 50 ) 50 100
diff_bpm12X/um
d'
800 |- —{700
600 — —B0C
| -
400
| : _-5'[:":
1 -
200 |-
of
- H
-200 [
~400
-600
[ m
—-E-DD_"'l""l""l""""'l"'
T 50 0 50 100

diff_bpm12X/um

di

a
:

N m
400 | —14(
| 00 —12(
] i
ol —10(
=200 —
—WD — [
B 400
600 —
[ 200
| [ |
_'B.DD _I 11 | L1 11 | | I | | | I | | | I | | 11 1 ﬂ
=100 =50 ] 50 100

diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run7186 000 re

diff_bpm1X

2000

1500

1000

500

~500

=1000

diff

10000

5000

=5000

10000

- - ¥2 | ndf 3.495/ 10

- p0 1.287 £ 1.121

i p1 ~18.06 + 0.16

:_ k! )

- *1

EI 11 | | I | | | I | | L1 1 1 | | I_I | | 11
=100 =50 (1] 50 100

- 72 ndf 10.69 /10

T p0 —0.2587 + 0.6089

I ' p1 ~77.71£0.09

_I L1 L1 1 1 | L1 1 1 | L1 1 1 | L1 11 |_I |
=100 ~50 (1] 50 100

dlthpmlL

%2 / ndf 5148 /10
p0 -2.573 £ 3.316
pi 10412048 | || *
ﬂg‘ |{
SO0
=1000 ;
=1500 ;' -
-2000 — B
_2500 — i
o N T N T T T T T T N T N T N A A OO
=100 =50 1] 50 100

diff_bpm1X

¥ | ndf

3000

2000

1000

1]

=1000

=2000

=3000

]

pO

p1

£.859 /710

—0.02833 + 0.35468

—32.99 + 0.05

- 100 -50

100

=

diff_ bpmdaY

: _-L[h 32/ ndf 31.39/ 34
oo PO 0.1613 05217
N -hh,.*
500 p1 _48.77 £ 0.09
of
-500
~1000 [ tt'*qﬂ
=1500 N - ;
1 | 1111 | 1111 | 1111 | 1111 | 1111 | 1 111 | 111

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

indf 254734
p0 1424235 :
p1 10.3 + 0.4 it

‘W* — ; W

(1]

=200

=400

=600

- 800

=1000

IIIIIIIIIIIIIIIIIIIIIIIIII
1
—_
|

1200

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

%2/ ndf 47.69/ 34

p0 0.2301+ 0.7556 Hf

p1 140.9 + 0.1 e

1000

o

=1000

=2000

ﬁjfﬂ

t

=3000

4000 b b b Lo b

—Eﬂ =20 =10 1] 10 20 a0

%

x= [ ndf 2733734

400 p0 —0.8852 = 1.0040

' Hm p1 10,41+ 0.18
I

+

.|.

++f|’|fw -

|
—

200

- 200

=400

=
LI I LI I LI I LI I LI I LI I
1
_— T

- 600 —

ression asvm saml1357 vs

diff _bpmdeY

2000 - ¥/ ndf 10.44 /12 : +; 72/ ndf 37.64 /34
- woo |- -y
b - p0 1.289 + 1.104 SR p0  0.1842 + 0.5905
i pi -18.28 + 0.15 500 - p1 _50.21 + 0.11
1000 [ i
s00 = 1}tﬁ i
oF \ 500 |
: e - E th? t
500 b ~1000 | J'”q.t}h
- . - H
1000 |- T -1500 |- ,
:Ill|||||||||||||||||_|||| :IIII||||||||||||||||||||||||_|||||
=100 =50 i) 50 100 =30 =20 =10 0 10 20 30
diff_bpm4eX diff_bpmdeY _
10000 —
i ¥ [ ndf 8.828 /12 %= { ndf 39.37 34
- - p0 01721+ 0.6059 p0 -0.9947 £ 2.3403
S000 — }
i - pi -/76x01 p1 12.24 £ 0.44 }
3
i = -t {}H-{
ﬂ __ \ o _ |‘
I Y - “ -
-5000 |- - - o0 _ *
10000 |- ) 1000
_Ill||||||||||||||||||||| -|||||||||||||||||||||||||||||||||
=100 50 i 50 100 -30 -20 =10 0 10 20 a0
diff bpm4eX diff bpmdeY
2/ ndf 12.21/12 %2 / ndf 34.65/ 34
p0  -2.381+3.271 p0  0.4472 + 0.6661 ,,f*_
- +
p1 11.21+0.45 w { p1 150.4 + 0.1 e
oF H / ) 1000 |-
Rl of
~1000 3 “1000 -
1500 3 - 2000 E ;__
- 2000 E_ 3000 f_ _ ++1;‘
_2500 i} E
i N A T T T A T T T N T T T N T Y A A “4000 T v be v e b b g L
=100 50 i) 50 100 -30 =20 =10 0 10 20 30
diff_bpmd4eX diff_bpmdeY
4000 | - ¥ ndf 5105/ 12 I ¥2  ndf 37.65/34
. a0 - - }
|moc p0  —0.09208 + 0.29789 I | p0  —0.7585 + 0.9985
2000 p1 ~336+ 0.0 200~ - ‘ﬁ‘ p1 ~11.55+0.19
1000 R i
- ’ o= T
(1] — \ : }; ‘i -
~1000 | _'*+++_ a0 JrHLH
-2000 - . I
E B - 400 [ -
-3000 :

diff “bpm-Fit

10

- postpan.png

diff_bpm12X

%2 | ndf 35.16 /40
p0 0.5545 + 1. 2261
p1 1.094 + 0.045
200 - w ]
u:— W/MM i
- 200 — mﬂ
_ap0 |-

=100 -50 1] 50 100

diff_bpm12X

%2 | ndf 52.39 / 40
00 -2.459 + 2.349 } *
o1 1.418 + 0.087
] -
: ++|}H I,
i |HMM+ i
—5&0:‘ -
-1.D|:|U_||||_|||||||||||||||||||||||||

"-"1

1500

1000

200

-500

=1000

=1500

-100  -50 0 50 100
i x2 / ndf 36.44 / 40
p0 -1.415 + 3.298
p1 -1.908 £ 0.122

4

++M++ |

|

=100 -50 1] 50 100

diff_bpm12X

%2 / ndf 43.1 /40
p0 -1.065 £ 1.016
p1 1.406 £+ 0.038 ||
200 [
+1M}|'
T

- 200

-400

[ T 1T I LI I T 1T 1 I LI I

=100 -o0 1] 50 100



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

diff_bpm1X

¥Z { ndf 10.24 /10
pO 0.4435 + 0.2867

p1 0.04245 + 0.04088 -

o

=100

.I_IIIIIIIIIIIIIIIIIIIIII

t lev v b v Py by g by
=100 -850 0 30 100

diff_bpmI1X

¥ | nf 9.437 /10

-180

pO 0.2607 £ 0.2606 |

p1 0.01099 + 0.03864 -

=500
=1000
=1500

=2000

=100 -50 0 50 100

diff_bpm1X

_|I|IIII|IIII|IIII|III

diff_bpmdaY

¥* { ndf 8272710

200

100

| pO 0.4189 + 0.5982

—0.02572 = 0.08570

=100
=200
=300

~400

I N N T N A A IO B A |_||
=100 -850 (1] 50 100

iff_bpm1X

_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
—_—

=500

9-.

400 ¥2 { ndf 9157 /10

pO 02701+ 0.2207

} p1

200

—0.01127 + 0.03182

- 200

=400

- 600

run7186 000 regeression i"'eg_sam

diff_bpmdeX

diff_bpmdeY

%

100

—_—

=100

2
_IIIIIIIIIlIIIIIIIIIIIIII|III

bpm12X

32 f ndi 36.27 /40

po

0.5321 + 0.2850

—0.008861 = 0.010525

_{HWMWW

=100 -50

1]

50 100

- - ¥ | ndf 37.95 /40
eol
- p0 0.2134 + 0.2658
60~
- p1  —0.00385 + 0.00981
4
o | ] {
: + N &
of 1. Hﬂ#$ﬁ%#hm¢¥hﬁ#¥#hﬂ| | j
20f
a0E
g
:III-Il||||||||||||||||||||||||

=100 -50

o

50 100

diff_bpm12X

¥ ndf 40.68 / 34 ¥ | ndf 11.81/12 32 f ndi 32.99 /34
pO 0.5007 + 0.2849 pO 0.4825 + 0. 2834 po 0.518 + 0.285 -
p1 0.01504 + 0.05062 | p1 0.03377 £ 0.03840 - =) 0.008565 + 0.053931
o T +ﬁ‘hﬁﬁmﬁﬁw : N — u”m
B |‘ S0 ]l - N
= - B _an |-
0 b 1 Jr}q{ 20 i n
: B -I'!I'"I--ﬂ‘t'_ :
-40— | N 1 + B ~40
. -50 -
-60— - —'E-E':
- o0 -80
_-E.-I}_— N - _
- ~150 | -0
_1.DD—_I|IIII|IIII|IIII|IIII|IIII|IIII|III ‘IllIIII|IIII|IIII|IIII|I '|IIII|IIII|IIII|IIII|IIII|IIII|II
30 -20 -10 0 10 20 30 100 _50 0 50) 100 30 20 -10 0 10 20 30
diff bpmd4aY dlthpH]élﬁL diff bpmdeY
%% | ndf 36.82 / 34 %% | ol 8.72/12 ¥ | ndf 40.98 / 34
p0 0.344 + 0.266 pO 0.2845 = 0.2581 } po 0.3946 + 0.2655 }
p1 0.04445 + 0.04673 } ) D1 0.0009894 = 0.0365935 . 'J[ - p1 0.0248 + 0.0495
‘ W‘mmmgnmwﬁﬁ.mﬁhﬁ /[ : i 'm
o ' +L‘.d"-‘w|' I -EI}D:— - o ﬁ%ﬁm"ﬁ*ﬁ*f i-t}-} ]
el ~1000 :— o
. f B [ )
- ~1500 [~ - )
100 : 00
[ 2000 i [
_IlllII|IIII|IIII|IIII|IIII|IIII|III _IllIIII|IIII|IIII|IIII|I -|IIII|IIII|IIII|IIII|IIII|IIII|II
30 -20 -10 0 10 20 30 ~100 50 0 50) 100 30 20 -10 0O 10 20 30
w2 [ ndf 351?f3¢ H0E _ ¥2 { ndf 5.324 /12 ¥2 | ndf 35.03 / 34
200
po 0.4632 + 0.5946 : p0 0.4685 + 0.5912 p0 0.4091+ 0.5951
100 -
p1 0.1438 + 0.1055 | - pl  —0.01263 + 0.08048 pi 0.01728 + 0.11250 {
= | I 0 fhrr' - T N L i ”"""ﬁ”‘l‘l-[]}]l
T T : L T
h -0 - 100 - }
00 - } - -
- 200 N
i . ~200 |-
200 - ~300 |- ) [
- - ~a00 -
B ~400 _ B
300 - -
_ . - ~400 - -
Ly b bvrva bvra s v by bvana b _5ﬂn‘| A AN T T T T T T N T T T N Y T M A A 1N I I N A SO B I A A O A O A A AN A O
30 -20 -10 0O 10 20 30 ~100 50 0 50) 100 30 20 -10 O 10 20 30
diff_ bpmdaY = diff_bpmdeX diff bpmdeY
¥/ ndi 2B.15/34 400 ¥/ ndf f.B64 /12 ¥/ naf 31.81/734
po —0.2978 + 0.2201 |- 200 B pO —.3144 + 0.2180 pO —0.2424 + 0.2200 -
o 0.002652 + 0.038875 ”lm i p1 —0.02585 + 0.02984 p1 0.01046 £ 0.04133 thrﬂmjﬂ[ }
- ] - o d‘i"' T T T
5O | B -
i 200 - -50r
~100 400 |- _ 100
N GO0 i
150 - 150 |-
i | _lll-lI|IIII|IIII|IIII|IIII|IIII|II

m1357 vs di

=20 =10

ff “bpm-fit’ postpan.png

‘,:{2 { naf a2.61 /40
pO 05187 + 0.5938 -
p1 0.01696 + 0.02188

T T il |

ol | Wﬂﬁ}

: - Hh H 1 i}
~100 - {
=200 [ -
=300 u -

AN T N N T N T N A A O O A I O A O

=100 =50 1] 50 100

:
:

__ ¥2 / ndf 44.34 [ 40
sl -
i p0 —0.2851 + 0.2197
40—
. =) —0.006862 + 0.008125
o T .
: + |
o 1l hww Il
o0l * _
_ap|-
-Erl} :I' 1 1 -I | | I 1 1 1 1 | | | 1 1 1 1 | |

=100 -o0

1]

50 100




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

2000
1500

1000

500

-500

=1000

=1500

-2000 -100 -50 0 50 100

diff_bpmXum

10000 — .

5000

5000 [~

10000 [~

=100 -50 0 50 100
difi _bpm1Xum

5000
4000
3000
2000

1000

=1000

=2000

=3000

-4000

=100 -50 0 50 100
diff_bpm1Xum

4000

3000

2000

1000

=1000

=2000

=3000

run7186 000 reeressionr-asym sam

- 500

=1000

=1500

1 | L1 11 | L1 11 | L1 11 | L1 11 | 1111 | L 111 | 1 11
=2000 -30 =20 -10 0 10 20 30
diff bpm4aYium

10000 =

5000 —

5000 —

10000 [~

=30 =20 =10 1] 10 20 a0
diff_bpmda/um

;

5000

4000

3000

2000

1000

=1000

=2000

=3000

~4000

30  -20 10 O 10 20 30
diff_bpmdaYium

4000

3000

2000

1000

=1000

=2000

=3000

R 1 ' 57" vs

2000
1500

1000

500

-500

=1000

=1500

II|IIII|IIII|IIII|IIII|I
=2000 -100 -50 0 50 100

diff _bpmdeX/um

diff _

| —
10000 — |

5000

5000

10000 [~

=100 -50 0 50 100

diff_bpmdaX/um
diff _

—
5000 _
4000
3000
2000
1000

0
~1000

=2000

=3000

~4000

~100 _50 0 50 100
diff_bpmdeX/um

4000

3000

2000

1000

=1000

= 2000

=3000

diff “bpm=sca

t

diff_bpmdeY

1000

500

-500

= 1000

=1500

HEEN | | I | | L1 11 | L 111 | | I | | L1 11 | [
'Em[-’:m -20 -10 0 10 20 30
diff_bpmdeY/um

| —
10000
5000
ﬂ_
=5000 -
10000
-||||||||||||||||||||||||||||||||
=30 =20 =10 0 10 20 30

diff_bpmday/um

dift Y
_bpmde
5000 _
4000
000
2000
1000
(1]

= 1000

= 2000

=3000

=4000

30 20 -10 0 10 20 30
diff_bpmdaY/um

diff_bpmdeY

4000
3000
2000

1000

= 1000

= 2000

=3000

_IIIIIII.II|IIII|IIII|IIII|IIII|II
R T T ——

ostpan.png

2000

1500

1000

200

-500

=1000

=1500

III|IIII|IIII|IIII|IIII|III
=2000 - 100 -50 0 50 100

diff_bpm12X/um

diff_

[
10000 — _

5000 —

5000 —

10000 [—

AN N A T T T N A N I B B O
=100 -50 0 50 100
diff_bpm12Xium

;

5000

4000

3000

2000

1000

=1000

=2000

=3000

-4000

I T I T T N T N I O OO O B A
=100 ~50 1] 50 100

diff_bpm12X/um
diff

4000

3000

2000

1000

=1000

= 2000

=3000

NN RN NS NS RS NN
=4000 =100 -50 1] 50 100

diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7186 000

300

« 200

100

=100

=200

-300

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=100 =50 0 50 100
diff_bpmXum

1000

500

=500

=1000

=1500

=2000

=100 -50 0 50 100

difi _bpm1Xum

600

200

=200

~400

-600

_apn 11 N T T N T T NN O T N T O A A B

=100 -50 0 50 100
diff_bpm1Xum

400~

I 200

=200
-400
600

—EﬂD'—

—1&0 —5& 100

300

« 200

100

=100

=200

=300

==
IIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIII

-Eﬂ =20 =10 1] 10 20 a0

diff_bpmda¥ium
diff

1000

500

- 500

=1000

=1500

=2000

—3D =20 =10 1] 10 20 a0

diff_bpmda/um

G600

200

=200

- 400

=600

800 plovva b vrrr b by bvr v brrva b

30 20 -1 0 10 20 30
diff_bpmdaYium

300

« 200

100

=100

=200

- 300

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~100 _50 0 50 100
diff _bpmdeX/um

1000

500

=500

=1000

=1500

=2000

=100 -50 0 50 100

diff_bpmdaX/um

600

200

=200

~400

-600

_apn 11 N TN T N N T NN T T O O A A O

~100 _50 0 50 100
diff_bpmdeX/um

B B I
400 400
I 200 I 200
| N | N
1 1
o o+
L -200 -
~400 —400
~600 - ~B00
~BO0

resression-reg sami357-vs dlfflmbpm-sc?]

300

« 200

100

=100

=200

-300

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

2

=20

diff_

500

-500
=1000
=1500

= 2000

=10

1]

10

20 a0
diff_bom4eY/um

2

=20

600

200

=200

~400

-600

10

o

10

20 30
diff_bpmday/um

'3”5'34} -20

400~

I 200

=200

~400

~600

-800 —

=10

1]

10

20 30
diff_bpmdaY/um

10

ostpan.png

300

« 200

100

=100

-200

- 300

==
IIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIII

1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
100 50 0 50 100
diff_bpm12X/um

1000

200

-500

=1000

=1500

=2000

AN N A T T T N A N I B B O
=100 -50 0 50 100
diff_bpm12Xium

200

-200

-400

- 600

I T I T T N T N I O OO O B A
~500 - 100 -50 0 50 100
difi_bpm12Xium

400 —

I 200

e

=200

400 —

600 —

-800 —

tv v v v by v v by
=100 -50 1] 50 100
diff_bpm12X/um




